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uni4 
mu~wduub~ns~naudu~ 

(Oblique Spherical Triangles) 
1 

d d 
f I ~ . J L W A ~ U L % J W ~ ~ T ~ ~ U ~ " ~ ~ ~  - (oblique spherical triangle) 40 R I % I ~ w R ~ ~ u L $ ~ w ~ ~ ~ ~ u  

~ ~ 1 ~ O y u ~ d ~ ~ u l n ~ 8 u y u ~ i n b a t l  &ad 4.1 .I 



4.2 fIa%8'1%lf& (Law of sines) 

sin a - sin b sin c - - - - -  - 
sin A sin B sin C 

r~u yu A,B,C niuhGu nnpn c c n n ~ u 1 ( ~ a ~ u ~ n s u I ~ ~ u 7 ~ u m 1 1 ~ u  AB dgm D 
Ll 

4.2.1 (a) M ~ ~ ~ ? U Y Q J ~ ~ U  c t g n d o o o n l d  4.2.1 @) ~ ~ I ~ R ~ U L M R L I U  

sin h = sin b sin A ..........( I )  

Zufi iuod~$u? r7u IUR~ULH~~LTUL%J~~~~RBJQ~~ BCD fl1-h 
sin h = sin a sin B .......... (2) 

sin a sin B = sin b sin A 

sina - sin b 6 d t U  - - - 
sin A sin B ' 

sin b - sin c - - -  
sin B sin C , 



sin a - sin b  - sin c  - - - - -  
sin A sin B sin C 

d d  8 
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d  quwws 
#A' A 

2) I U ~ I ~ U ~ * ~ ~ ~ M I A I U L M ~ U ~ ~ S ~ W ~ J ~ ~ ~  I a ~ ~ I < n g ~ o ~ l a w u  L U O L ~ I ~ ~ ~ . ~ ~ ? U ( ~ I J  q 
e: 

Y Q ~ R I ~ L M ~ U ~ ~ J ~ ~ J ~ ~ U L L K ~  I U U I J R ~ J L T I Q I ~ W U ~ ~ ~ M I ~ I  ~ ~ u ~ w i u ~ l ~ ~ w o ~ ? l w ~ q ~ ~ n n i m  
d  d  d d  a d  A m w  w i o r q n n n i n A ~ o ~  ~ 4 o o i ~ ~ : a ~ ~ ~ l u ~ ~ n n n 1 m n ~ u ~ ~ ~ o n a o ~ f l 6  LuoJilln 
sin A = sin (180' - A) 0 d l d 3 6 I l ~  L ~ ~ Q ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ u Q ~ ~ u ~ N A u ~ ~ U Q ~ A ~ ~ ] L H ~ ~ ~ ~ S ~  

nasnauWd4-1 

i 

(ii) a + , b > c , a  + c > b  bbaf b  + c > a  
I 

1 



4. I U N I U L H ~ L I U L % J ~ T ~ ~ [ I U  ABC d f l ~ d c  ~~IHU(~~?UI~~~?WH:JIQ~RIULH~OUUIIG 2 "1 

o ~ ~ ~ l m r n l ~ ~ c i ~ f l ~ n ~ o ~ ~ o c i ~ l a  
4.1) A = 65" 13',B = 4g028', 130°33',C = 128" 16'a = 88O2At,b = 5604at,c = 1200 11' 



r .r nqr e ~ I ~ ' l r ~ m ~ u ~ ~ u ~ ~ ~ ~ n ' ~ o . s ~ ~ y ~  
1 d o  w v 

4.8.1 f l ~ ( 1 0 ~ ~ f l b ' l d 0 1 ~ 3 ~ ~ 1 ' l d  (Law of cosines for sides) 

cos a = cos b cds c + sin b sin c cos A - 1  
I a 

cos b = cos c cos a + sin c sin a cos B 

cos c = cos a cos b + sin a sin b cos C 

Qgod 
~~PIJIUIJ~ 4.3.1 

C 
C 

A A 
C m-c 

sin m = tan h cot A 

sin h = sin b sin A 

1u~iurniuurti~ns~nfiu~in BCD IiYii 
I 

cosa = cos h cos(c-m) 

M?Q cos a = cos h (cos c cos m + sin c sin m) .......... (4) 
A 

( IMQJBI~ cos (c - m) = cos (m - c)) 
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unun'i sin rn oin (1) ua: ms m m n  (3) ~JIY (4) ~ ~ 1 6 '  
cos b cos a = cos h (cos c - + sin c tan h cot A) 
cos h 

= cos c cos b + sin c sin h cot A. ......... .(5) 

b ~ ~ n ' l  sin h sin (2) R J ~ U  (5) Q L ~ K  

cos a = cos c cos b + sin c sin b sin A cot A , 

= cos b cos c + sin b sin c cos A 

cos b = cos a cos c + sin a sin c cos B .......... (7) 

cos c = cos a cos b + sin a sin b cos C .......... (8) 

Q ~ ~ u n i 3  (6) ,  (7) LLRL (8) RQ n t J V ~ J ~ f l ~ d ( i l ~ a ' ¶ J l ~  i I . 4 ~ 0 4  

Y PI 

VOQ91fl05 
r rJ .  n p ~ ~ i ~ c i i l d l ~ ~ n ' ~ u ~ i v o ~ m u a v d u u ~ ~ ~ n a J n ~ u  I u n . r m i ~ ~ u n R * i u I ~ ~ o ~ ~ i u  

Kuqus:vii~Riu 

d J cr 
iYaopiis 4.3.1 s~viR*iu c V Q J W I X ~ L M ~ ~ U L Q J W ~ ~ ~ W I ~ ~  ABC m u  a = 760 24' 4ou, 

~innt~uo~~nla6a?ina'~l61u~6di 
cos c = cos a cos b + sin a sin b cos C 

bbd cosa = cos 76' 24' 40" 

cos b = cos 58" 18' 36" 

= 0.52532 

sin a = sin 76O 24' 40" 

= 0.97201 

sin b = sin 58" 18.' 36" 

= 0.85090 



cosC = c0s116~30 '28"  

0: 6 4 ~ ~  cos c = (0.23495)(0.52532) + (0.97201)(0.85090)( - 0.44632) 

= 0.12342 - 0.36914 

4.8.2 ngrarlnkdi~~Yuyu (Law of cosines for angles) 

npuo~h~a6a'ivlSuyu nR'i7ii : 

iuniuaiuutB.sn.r.sn~u ABC i n  7 ~:(Zgii 
cosA = -cosBcosC + sinB,sinCcosa 

cos B = -cos C cos A + sin C sin A cos b I l~ 
I 

I 

cos C = -cos A cos B + sin A sin B cos c I 

1 

cosa '  = cosb'cosc '  + s i n b t s i n c ' c o s A '  .......... (9) 

~si~inmiukurJ'ua'~rvldi.s~2usii~ 7 ua.saiua~uut5.sn.r~naun'uniut~~uut5~u"~ 

+ sin (180" - B) sin (1 80" - C) cos (1 80" - a) 
I 

~ $ 0  -cosA = (-cosB)(-cosC) + s i n B s i n C ( - c o s a )  

= cos B cos C - sin B sin c cos a 

~ $ 0  cos A = - cos B cos C + Sin B sin C cos a .......... (10) 

Iuiiuo~tQu~n'u 0~16'ii 
cos B = - cos C cos A + sin C sin A cos b .......... (1 1) I 

cosC = - c o s A c o s B + s i ~ ~ A s i n B c o s c  ......... .(12) 

4.snuni.r (I o),(l I )  URL (12) ~ ? C I  npuo~h~a6a'ivlfuqu &uta~ . 



cos C = -cos A cos B + sin A sin B cos c 

IUM COSA = cos 60" 

sin A = sin 60" 

sin B = sin 60" 

COS C = COS 60" 



-- . . . . .. 

. . 

itu'u3nh 4.8 

I. s~~%nguorh\afiilnr'uiiu a16114 a uoraiu~liuur~rnsrnau ABC b~vj iaw 
W Y  3 

d914di~ 3 laaru 
1.1) b = 60°, c = 30°, A = 45' 

1.2) b = 45O,.c = 30°, A = 120' 

1.3) b = 45O, c -= 60°, A = 150' 

2. ~ ~ l % f I g ~ f l d h \ ~ f i h ~ ~  H l Y U  A Y Q J ~ ~ & J L H ~ I I U L % J ~ ~ J ~ B U  ABC dt?il~I4@~?I4 
W Y  3 

d l 4  3 l~fl~I4 

2.1) B = 120°, C = 150°, a = 135' 

2.2) B = 135O,C = 120°, a = 30° 

i 
3. I U R I U I M ~ U U L P J ~ ~ J ~ . U  ABC Tiiau~M a = 30°, b = 45O, c = M)O ~ J H ~ Y U  A 

I 
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4.4 nqG~hu 
n p h d a u  ~ i lunpdn i l a  w ' u ~ 3 : n i l ~ ~ u ~ o ~ ~ u n ' u 6 1 ~ 1 i ~ ~ i ~ ~ o ~  

d A I I ~  c n u ~ v l a u u ~ q ~ n s ~ n a u a  7 aJunJnuR 6 p 3 ~ j i :  

1)  s inacosB = cosbsinc - sinbcosccosA 

2) sin a cos C = cos c sin b - sin c cos b cos A 

3)ssin b cos C = cos c sin a - sin c cos a cos B 

4) sin b cos A = cos a sin c - sin a cos c cos B 

5 )  sin c cos A = cos a sin b - sin a cos b cos C 

6) sin c cos B = cos b sin a - sin b cos a cos C 

S0'd 
n i ~ G g ~ d n p C i d ? u  r i i~~nuo~R'unp~o~h~a6iina'u6iu 636 
1) 91n cos b = cos a cos c + sin a sin c cos B 

sin a sin c cos B = cos b - cos a cos c , 

= cos b - cos c (COS b cos c + sin b sin c cos A) 

= cos b - qos b cos2 c - sin b sin c cos c cos A 

= cos b (1 - cos2 c) - sin b sin c cos c cos A 

= cos b sina c - sin b sin c cos c cos A 

MI.~$J 2 Gw8au sin c irI6 
sin a cos B = cos b sin c - sin b cos c cos A 

2) 'din cos c = cos a cos b + sin a sin b cos C 

9tI6 s inas inbcosc  = c o s ' c - c o s a c o s b  

= cos c - cos b (cos b cos c + sin b sin c cos A) 

= cps c - cos c cos2 b - sin b cos b sin c cos A 

= ' cos c (1 - cos2 b) - sin c cos b sin b cos A 

- 
, - cos c sin2 b - sin c cos b sin b cos A 

Ml38J 2 %IJ&U sin b ~ ~ 1 6  
sin a cos C = cos c sin b - sin c oos b cos A .......... (2) 



3) sin b cos C = cos c sin a - sin c cos a cos B 

4) sin b cos A = cos a sin c - sin a cos c cos B 

5) sin c cos A = cosas inb  - s i n a c o s b c o s c  

6) sin c cos B = cos b sin a - sin b cos a cos C 

4.6.1 g 9 1 3 ~ $ ~ Y ~  (Half-angle formulas) 
A V 

a w  a gwmsyu umsu : 

1 r 
1) tan -A = 

2 sin (s - a) 

1 r 
2) tan -B = 

2 sin (s - b) 

1 r 3) tan -C = 
2 sin (s - c) 

i 
k f i f r =  sin (s - a) sin (s - b) sin (s - c) 

LUQ s = 
2 sin s 

1) 9l.n cos a = cos b cos c + sin b sin c cos A 

cos a - cos b cos c cos A = 
sin b sin c 

LL ;a cos a - cos b cos c 1 - c o s A  = 1 -  
sin b sin c 

- 
7 

sin b sin c - cos a + cos b cos c 
sin b sin c 

- - cos b cos c + sid b sin c - cos a 
sin b sin c 

- - cos (b - c j  - cos a 
sin b sin c 

E 
L 4 

sin b sin c 



l + c o s A  = 1 +  cos a - cos b cos c 
sin b sin c 

- - sin b $in c + cos a - cos b cos c 
sin b sin c 

- - cos'a - (cos b cos c - sin b sin c) 
' 

sin b sin c 

- - cos a - cos (b + c) 
sin b sin c 

sin b sin c 

1 1 -2sin-(b-c+a)sin-(b-c-a) 
ua:: 1 - cos A 

= r 2 2 
1 + cos A sin b sin c 1 

. ( sin b sin c 
1 1 1 

-2"sn-(a+b+c)s in-(a-b-c)  
2 2 

1 1 sin-(a+b-c)sin-(c+a-b) 
- - 2 2 

1 1 sin - (a+b+c)  sin - (b+c-a) 
2 2 

1 1 
Lw~Iz'~ sin - (b-c-a) = -sin - (c+a-b) 

2 2 
1 1 UR:: sin-(a-b-c) = ' -sin - (b+c-a) 
2 2 

tan-A = J 1 - COSA 
2 1 + cos A 

sin s sin (s -a) 
! 

- - 1 sin (s - a) sin (s - b) sin (s - c) 
sin (s - a) J sin s 



sin (s - a) sin (s - b) sin (s - c) - - r 
sin s 

L 318~1641 .tan A = 
r 

2 . sin (s - a) 

1 r tan-B = 
2 sin (s - b) 

1 r tan-C = 
2 sin (s - c) 

A U A ~  r = LUO s = 
2 sin s 

4 
4.62 O ~ 3 ~ ~ & ~ ~  (Half-side formulas) 

.lure 
! R T ~ J ~ U  URJU . 

1 1) cot - a = 
R 

2 cos (S - A) 

1 3) cot - c = 
R 

2 cos (S - C) 

I d 0  s = 
A + '+ 

UA:; R = 
cos (S - A) cos (S - B) cos (S - C) 

2 - cos S 

igS' - a' + b' + c' UAr r' = - sin (s' -a') sin (s' - b') sin (s' - c') 
2 sin s' 



S = 
A + B + C  

2 

sin s ' = sin (270" - S) 

= sin (90" - (S - A)) 
1 

= cos(S-A) 

sin (s' - b') = sin (270' - S - (180" - B)) 

= sin (90' - (S - B)) 

= cos (S- B) 

= sin (90" - (S - C)) 

= cos (S-C) 

r1  = J cos(SrA)cos(S-B)cos(S-C) = 
- cos S 

1 r '  t an -A '  = 
2 sin (s' -a1) 

= cot l a  . 
2 

1 cot - a = R 
2 cos (S - A) 



2uiiuo~sCuan'M or1841 

1 
cot - b = 

R ......... .(2) 
2 cos (S - B) 

1 
cot - c  = 

R .......... (3) 
2 cos (S - C) 

A A + B + C  L,,WER= cos (S - A) cos (S - B) cos (S - C) Lua S = 
2 - cos S 

Y w 
VB1SLfWl 

d 
d t: 

f f ~ 3 d d i i l M L 0  f l 3 ~ ~ ~ d ~ 3 l ~ ~ ~ w ' ~ d 3 ~ ~ ~ l ~ ~ 3 d ~ l ~ ~ 6 1 ~ l ~ ~ d ~ n ' ~ ~ ~ ~ ~ R l ~ Y ~ d  

nius~duus%~ns~nnu ~ ~ ~ 1 L i s n r i i l d l 3 s s n ' d ~ ~ i 1 1 o ~ ~ i ~ ~ ~ ~ ~ ~ ~ % ~ ~ a ~ n a  lun.r&d 

T i i~u~yu lK~ iuyu 

4.0 n i ~ g d u i u r e ~ m i d ~ ~ a z u ~ ~ ~ u ~ ~ s '  
4.61 mrpdrnuua.nmi (Gauss's analogies) 

ni~q~uiuuornic i  ~ ~ n s n j d  
I 

Iu r ia~duus~~n3~nnu ABC l m  7 P:%MI 
1 1 sin-(A-B) sin-(a-b)  

1) 
2 - - 2 

1 
cos - C 

1 sin - c 
2 2 

1 I 
sin - (A + B) cos - (a - b) 

2) 
2 - - 2 

1 
cos - C 

1 
COS - C 

2 2 
1 1 cos-(A-B) sin-(a+b) 

3) 
i , - - ' 2 

1 sin - C 
1 sin - c 

2 2 
1 I 

cos-(A+B) cos- (a+b)  
2 

4) 
2 = 

1 
sin - C 1 

COS - c' 
2 2 

A d sm:Bm3dofjt~3d~u ' I I J ~ ~ ~ ~ I ~ ~ I ~ L ~ ~ u u o ' ~ u ~ I I O J ~ ~ ~  I )  d ~ v t l ~  4) sOwi0Sn3 
3 A t: 

(cyclic) ~ J ~ : Y ~ I ~ ~ ~ $ ~ ~ L ~ u Y U Q ~  8 ff(13 ~ ~ U I ~ U B ~ ~ S W J H U R  12 gm3&3~l<u 
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i 1 
LUElJQIn 1 - cos A = 2 sinz - A 

2 

~JI&;I sin 2 - A = / ~ ( I - C O S A )  

/ ; ( -2s ini (b-c+a)s inI(b-c-a))  
- - 2 

sin b sin c 

L L 

sin b sin c 

sin b sin c 

sin (s - c) sin (s - a) 
2 sin c sin a 

1 
I L R : L ~ O J P I ~  1 + cos A = 2 cos2 ; A 

1 ~JI&;I cos - A = 11 (1 + cos A) 
2 \ 2 

1 1 - s in - ( a+b+c) s in - ( a -b -c )  
- - J 2 

sin b sin c 

sin b sin c 

d sin s sin (s - b) cos - B = 
2 sin c sin a 



1 1 
sin - A  cos- B 

2 2 

1 1 cos - A sin - B 
2 2 

1 

UW'. 
I sin - (A - B) 
2 

sin b sin c sin c sin a 

- - 
sin c sin a sin b 

.. 
- - sin (s - b) cos I 

sin c 2 

sin b sin c sin c sin a 

- - 
sin c sin a sin b 

- - sin (s - a) cos i 
sin c 2 

- - 1 1 1 1 
sin - A cos - B - cos - A sin - B 

2 2 2 2 

- sin(s-b) 1 sin (s -a) cos 1 - cos - C - 
sin c 2 sin c 2 

- - sin (s - b) - sin (s - a) cos,i 
sin c 2 

1 1 
2 cos - ((s - b) + (S - a)) sin - ((s - b) - (s - a)) 

- 2 ' 2 1 - cos - C 
1 1 

2 sin - c cos - c 
2 

2 2 
1 1 

cos-csin -(a- b) 
- - 2 2 I cos - C 

1 1 
sin - c cos - c 

2 
2 2 

1 
sin -(a- b) 

= 2 1 
cos - C 

1 
sin - c 

2 
2 

&t%4iijlMl 
1 

sin - (A - B) 
1 

sin - (a - b) 
2 - - 2 

1 1 
cos - C sin - c 

2 2 



Y w 
Uba91fl6l 

2: n iagduiu~orm6~ ~cr~~~d~aiu$ufiua'a:~~iddauwd~nuod~dwiu~~duu 

~Qdnadn~u i~ildarbarioditdt~unia1%~6ugnad1~a'~~aaaowo~~~a1u$ufiuda~~i1~ 
2: i auna~nuo~wiu~vr iuu~~~na~~u  

4.6.2 m ~ p d u i ~ u ~ ~ ~ ~ ~ u i  (Napier's analogies) 

- 2 .  niaqduiuuotru~flui d g n s ~ ~ u  . 
luwin~~out~dna~nnu ABC la 9 o:(l&ii 

1 1 
tan-(A-B) sin-(a-b) 

1) 
2 = 2 

1 
cot - C 

1 
sin - (a + b) 

2 2 
1 1 

t an- (a -b)  s in - (A-B) ,  

2) 
2 - - 2 

1 
tan - c 

1 
sin - (A + B) 

2 2 
1 . 1  

t a n - ( A + B )  cos-(a-b)  

3) 
2 - - 2 

1 
cot - C 

1 
cos - (a + b) 

2 2 
1 1 t a n - ( a + b )  cos-(A-B) 

4) 
2 - 2 - -- 

1 
tan - c 

1 
cos - (A + B) 

2 2 

~ra:gn.rdo~~updu 6~(lrilinniardduu~nwa'11o~ggla 1) Rtgna 4) r6uQQns 
' a d  2: 6~o:'l&gnaduuuon 13 ens aaurilugnmt~un 12 gnsFi?ufu 

Good 

1 
sin - (A - B) 

1 
sin - (a- b) 

2 - - 2 
1 

cos - C 
1 sin - c 

2 2 
1 

sin - (a - b) 
I s in-(A-B) = 

2 1 
cos - C 

2 1 sin - c 
2 

2 



1 COS-(A-B)' 
1 sin - (a + b) 

2 - - 2 
1 sin - C 

1 sin - c 
2 2 

1 sin - (a + b) 
1 

<4&4 cos -(A-B) = 
2 1 sin - C 

2 1 2 sin - c 
2 

1 sin - (A - B) 
UWZ 

1 tan-(A-B) = 
2 

2 1 cos - (A-B) 
2 

1 1 1 sin-(a-b)cos-C sin - c 
2 2 

= ( 1 1 1 
1 

sin - c sin- (a+b) s in -C 
2 2 2 

1 sin - (a- b) 
- - 2 1 cot - C 

1 sin - (a+ b) 
2 

2 

1 
tan - (A - B) 

1 sin - (a- b) 
2 = 2 .,........( 1) 

1 
cot - C 

1 sin - (a + b) 
2 2 

1 sin - (A - B) 
2 - - 

1 cos - .C 
2 

1 sin -(a-b) 
2 

1 sin - c 
2 I 

1 sin - (A- B) 
1 &#u sin - (a- b) = 

2 1 sin - c 
2 1 cos - C 

2 
2 

\ 
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1 sin - (A + B) 1 cos - (a - b) 
2 - - 2 

1 cos - C 1 
COS - C 

2 2 

I 
sin - (A + B) 

1 fib cos-(a-b) = 
2 I 

COS - C 
2 1 cos - C 2 

2 

I tan-(a-b) = 
2 ,  

I sin - (a - b) 
2 
1 

cos ' (a - b) 
2 

1 cos - C 
2 

1 cos - C 
2 

I I ) 
sin-(A+B) cos- c 

2 2 

1 sin - (A- B) 
- - 2 I tan - c 

I sin - (A + B) 2 
2 

d;lrfU~ J'l6'h 

1 
tan - (a - b) 

1 
sin - (A- B) 

2 - - 2 
I 

tan - c 
I 

sin - (A + B) 
2 2 

4.7 m~uXiky~inrQn'i~od~6iod1#a~rXlu 1 ta~n.rdn ' inu~y~1i ia i~  
4.7.1 ~ d e d i m r a ~ i ~ ~ k i u & i u  do 61u a, b aa: c o ~ s o : ~ f i f l q ~ ~ l ~ u l h p u o ~  



I r tan - A = 
2 sin (s -a) 

1 r tan - B = 
2 sin (s - b) 

1 r tan - C = 
2 sin (s - c) 

A a + b + c  sin (s - a) sin (s - b) sin (s - c) 
LUO s = 

2 sin s 

sin a - sin b - sin c - - - - -  
sin A sin B sin C 

sin (s - a) = sin 45" = 0.7071 1 

sin (s- b) = sin 15" = 0.25882 

sin (s- c) = sin 15" = 0.25882 

sin s = sin 75" = 0.96593 

sin (s -a) sin (s - b) sin (s - c) 
LLR: 

r = ii sin s 

ah l' = 
0.96593 

= f/ijE53 

= 0.22145 
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r - - 
sin (s - a) 

q i n  
1 tan - A 
2 

1 tan - A 
2 

= tan-' 0.3 13 17 

q i n  
1 

tan - B 
2 sin (s - b) 

- - 0.22145 .. 
0.25882 

= 0.85561 

= tan-' 0.85561 

= 40°33'2" 

. . 1 tan - B 
2 

1 
bbR:: 9111 tan - C 

2 
- - r 

sin (s - c) 

. . 1 tan - C  
2 

= tan-' 0.85561 , 

= 40°33 '2"  

catu C 

BITJQQBU 

sin a 
sin A 

sin b 
sin B 

sin c 
sin C 



OOoS'O = v so3 

f0998.0 = V u!s Lky\ 009 = V UL6 

3 isn q 'a LFLUQVI n)tn~~~~y~\~1Oug~a~1~~b~~iiib ~pfil 

~~~~ULP~~%~,U~~U~~LRP~~R~~~H~RLYIPORLLUU$$ n - ma 2 tt~t~~r~bgl~$U n)tn&ULp 

yfi\ulOu~~n~l~~h~yii~~o 3 zrn a 'v nlr ay. nhrun~~nbnuyop z.L.r 



2) cos B = -cos C cos A + sin C sin A cosib 

. . cos b = cos B + &s c cos A 
sin C sin A 

3) cos C = -cos A cos B + sin A sin8Bcosc 

. . cos C + cos A cos B 
COS C = 

sin A sin B 

sin a - . - -  0'98797 = 1.14080 
sin A 0.86603 

sin b - - - 0'57041 = 1.14082 
sin B 0.5 

sin c - - - 0.98796 = 1.14079, 
sin C 0.86603 
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4.8 ni~llfi~dnin~dn'i~u61#1~1fi~~~#mn"'~1yu~zwa'~9&1~ i~azn~dn'mumyu 

1Ciaaqy uK~Ciiw~zdi ~ y u  

A ' 

4.8.1 i u o c i i m t ~ i i o ( t C ~ ~ # l ~ ~ ~ u ' 3 ; : ~ i ~ 8 i ~ X ~ ~ 1 ~ ~  (iio riivwn a, c, B v ~ a  , 

b, c, A VI?O a, b, c ~114) 
o i ~ ~ n i l r y v i ~ a u ~ h g ~ f i ~ ~ d i i v s ' u ~ ~ u  vial#~a~ni.rqLJ~iutlo ~~u~?luin"lf 

II L 5a1Ji~ 4.8.1 P J L L ~ ' ~ ~ ~ ~ ~ M I A ~ U L H R U U L ~ J ~ R U  ABC LUO a = 30". B = 45' 

i l ~ s ' ~  b H I ~ O I U ~ # Q ~ ~  

cos b = cos c.cos a + sin c sin a cos B 

1 
tan - (A + C) 1 ,  

2 
cos - (a - C) 

- - 2 
1 

cos - (a + C) 
-2 

1 
tan- (A-C) 1 sin - (a-c) 

2 - - 2 
1 1 '"i 

cot - B sin - (a + r )  
2 2 

sin a ,. sin b sin c vn.ri13a.r-nnouiia : - - - = - 
sin A , "ksin B sin C 

cos b = cos 60" cos 30° + sin 60" sin 30' cos 45' 

= (0.5)(0.86603) + (0.86603)(0.5)(0.70711) 



o in  (2) 14di  i 

1 1 cos -)(a-c) cot - B 
1 tan - (AhC) = 

2 2 
2 1 cos - (a + C) 

2 

L 

= cos (-15") cot (22" 30') 
cos 45" 

.. 1 - (A + C) = tan-' 3.29786 
2 

= 73"7' 51" 

o in  (3) 15di 
1 , 1 sin-(a-c)cot-B 

1 tan-(A-C) = 
2 2 

2 sin - 1 (a + c) 
2 

= sin (- 15") cot 22" 30' 
sin 45" 



sin a - 
- - +  

sin 30" - - OS5 = 0.95245 
sin A sin 31" 39' 56" 0.52496 

sin b - 
P - sin42"201 12" - - 0.67348 

= 0.95244 
sin B sin 45" 0.7071 1 

sinc - - - sin 60" - - 0'86603 = 0.95244 
sin C sin 114" 35' 46" 0.90927 

d 
4.8.2 I U @ ~ ' I ~ R ~ U ~ ~ ~ ~ ~ U K U ~ ~ M ~ ~ ~ ~ ~ ~ ~ U ~ " ~ Q @ ~  (lo ~~IHUR A, C, b H?O 

B, C, a H ~ O  A, B, c UII$ 
oi~un'd~)rl11~ul#n~~n~a6ii~r'uyu ~ io~#~mqdu iuao~~utdu~  ~f ol#~<nnis 

a o ~ n u b ~ ~ u u t % ~ # ~ ~ u n ~ ~ n ~ a ~ h ~ i u ~ i u ~ i o n ' u ~ d u i u v ~ ~ b u ~ ~ ~ i n " l ~  
d J d Kaao'i~ 4.8.2 e~un'dr l~~ ia iu~auu~Q~ns3n~u ABC ~ J U  A = 150~. c = 30" 

UW:: B = 120" 
-4 d J  35nl ( Z U ~ U P ~ ~ D ~ H I  C, a LLR:: b 

I#n'npklaJii~iuyu aiyu c ~ R U  

cos C = - ~ o s  A cos B + sin A sin B cos c ..........( I )  

cos C = -cos 150" cos 120" + sin 150" sin 120" cos 30" 

= - ( - cos 30°)(- cos 60") + sin 30" sin 60" cos 30" 

1 
tan-(a+ b) 

1 ' cos - (A - B) 
2 - - 2 .......... 

I 1 (2) 
tan - c cos - (A + B) 

2 2 
1 

tan -(a- b) 1 sin - (A- B) 
2 2 

LLAL = -- ......... 
1 1 

.(3) 
tan - c sin - (A + B) 

2 2 



s i n  (2) 1641 
1 

cos - (A - B) 
! 

1 tan-(a+b) = 
2 1 tan - c 

2 1 cos - (A + B) 
2 

2 

= ~ 0 ~ 1 5 '  tan150 
cos 135' 

. . 1 - (a + b) = tan-' ( - 0.36603) 
2 

T3tU 
1 
-(a+b) = 159053 '44~ 
2 

s i n  (3) U 
1 sin - (A- B) 

1 tan-(a-b) = 
2 1 tan - c 

2 1 sin - (A + B) 2 
2 

- - sin 15* tan 15' 
sin 135' 

- - (0.25882)(0.26795) 
(0.7071 1) 

.. 1 -(a-b) = tan (0.09808) 
2 

T~#U -(a-b) 1 = 5'37'43" 
2 

A' rm1ui-q s i n f i o d i r  4.8.2 u L T I ~ I P L L ~ ' ~ ~ M I ~ ( I U ~ ~ ~ " M K ~ I I ~ ~ ~ I U L M ~ U U L ~ ~ # ~  

A'B'C' UQJ~~ IULM~UUL%~V~T~~~~U ABC d ~ i l M U ~ l ~ f l 6  buP:k6 a' = 180" -A, b' = 1 W  - B 





sin b sin B = - sin A 
sin a 

1 tan -(a-b) 1 sin -.(A - B) 
2 ,= 

2 
1 tan - c 

1 sin - (A + B) 
2 2 

\ 

1 tan - (A - B) 
1 sin - (a - b) 

LLR': 
2 - - 2 

1 T 

cot i C 
2 

sin !. (a + b) 
2 

i 4 # a ~ d i ~  1.9.1 ~ ~ ~ ~ n ' d ~ n i ~ a d ~ i u ~ ~ t ~ ~ ~ ~ d n f  d n a u  ABC v ~ J U  e = 80° 26' 12",- 

sin c sin C = - sin A .......... 
sin a 

(1 
, 

( i in f~  b n11au\+grn.r 

1 , sin-(c+A) 
I tan - b = 2 1 tan -(c-a)  ......... .(2) 
2 I sin - (C - A) 2 

2 



riivfi  B H I I O L I I ~ ~ R I  

i' 
sin-@+a) 

2 1 1 .......... cot - B = tan -(C-A) 
2 1 2 

(3) 
sin - (c - a) i 

2 

1 sin - (C - A) 
1 

sin-(c-a) 
2 - - 2 .......... (4) 

1 1 
cos - B sin - b 

2 2 

HI C : 

qin  ( I )  Ig41 
sin 115'30' 36" sin 720 241 sin C = 
sin 80' 26' 12" 

- - (0.90251)(0.95323) 
(0.9861 0) 

= 0.87243 

C = sin-' (0.87243) 

= 60'44' 32" H f a  119" 15' 18" 

rrdoinlonu' Igji a < c 

&l!U 41 C $ f l ~ q : ( i 0 ~ ~ 4 ? 1 ~ $ U . ~ ' U a ' ~ l  A < C X?U cJJU "1 C = 119' 15' 18' 

L ~ L I J ~ I L A U ~  

1 
tan - b = sin95'49'52" tan 170321 12" 

2 sin 23" 25' 27" - 

1 - b = tan-' (0.7980) 
2 



H I  B : 

oin (3) 1iiii 
1 cot - B .= sin '17' 58' 24" tan (230 25 1 27") 
2 sin 17" 32' 12" 

1 - B = cot-' (1.4239) 
2 

mgammpJ 
I 

e 

oin (4) 16 

1 sin - (C - A) 
2 - - sin 23" 25' 27" 

1 -cos 35" 4 '  46" ' 

cos - B 
2 

1 sin - (c - a) 
LLB:: 

2 - - sin 17" 32' 12" 
1 sin - b 

sin 38" 20' 129 
2 

(0.30 132) 
I 

- - 
(0.62029) 

= 0.48577 ' - 

Gh$U 4~16dl 
C = 119" 15' 18" 



sin b sin B = - sin C 
sin c 

1 
sin - (b + c) 

1 
cot - A = 

2 I .......... tan - (B - C )  (2) 
2 1 sin - (b - c) 2 

2 
r i i ~ i u  a HIIRLJI~Q~T 

1 sin - (B + C) 
1 2 1 .......... tan - a  = tan -(b-c) (3) 
2 1 sin - (B-C) 

2 
2 '. 

1 sin - (B-C) 
1 

sin - (b- c) 
2 - -- - 2 .......... (4) 

1 
cos - A 

1 sin - a 
2 2 

sin81°42' 18" sin47025f 6,, 
sin B = 

sin 52" 19' 48" 

B = sin-' (0.92050) 

= 67" M ~ Q  113" 



I cot- A ,  = 
I tan-(BI-C) 

2 I 2 sin - (b - c) 
2 

- - sin67O 1 ' 3" tan 90 47'27" 
sin 14" 41' 15" 

1 - A, = cot-' (0.62655) 
2 

= 57'55'51" 



o i n  (3) 1841 

1 sin - (B, + C) 
1 2 1 tan - a, = 
2 

tan-(b-c) 
1 sin - (B, -C) 2 
2 

- - sin 570 12' 33" fan 140 41 1 15" 
sin 9" 47 ' 27" 

1 I a, = tan-' (1.2958) 

sin 9" 47' 27" - - 
1 cos - A, cos 57" 55' 51" 
2 

1 sin - (b-c) 
LL8: 2 - - sin 14" 41 ' 15" 

1 sin - a ,  sin 52" 20' 30" 
2 



. . 

/ 

44 man 2 
A 

~ ~ ~ I ~ W L U O  B. = 113" H7 A. LLB: a. 

H7 A.: 

wn (2) 'La7 

1 sin - (b + c) 
1 cot -A, =. 

2 1 tan - (B. - C) 
2 .1 sin - (b - c) 2 

2 

- - sin 67" 1 ' 3" tan,320 47 r 27" 
sin 14" 41 ' 15" 

- - (0'92063) (0.64423) 
(0.25355) 

= 2.33917 
1 - A1 = cot-' (2.33917) - 2 

= 23" 8' 50" 

. . A, = 46" 17' 40" 

p i n  (3) 1637 

1' 
sin - (B. + C) 

1 2 1 tan - (b- c) tan - an = 
2 1 2 

sin - (B. - C) 
2 

= sin 80" 12' 33" tan 140 41 
sin 32" 47' 27" 

- -, (0'98544) (0.262 1 I) 
(0.541 67) 

= 0.47693 

= tan-' (0.47693) . ' Z 
= 25" 29' 37" 

. . a, = 50" 59' 14" 

K J & ~  td'Ldij7 B. = 113", A. = 46" 17' 40" LLB: a. = 50" 59' 42" 
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1 sin - (B, - C) 
2 = sin 32O 47 ' 27 " 

1 
COS - A1 cos 23" 8 '  50" 

7 

1 I sin - (b - c) 
1163: 

2 - - sin 14O 41 ' 15" 
1 sin - a2 sin 25" 29' 37" 
2 

- - 0.25355 
0.43041 

dd d 
fl'1WW 1 $0 6TIULH65UBI 'A, B, C B, = 67", A, = 115" 51 ' 42" 1165: a, = 104" 41 ' 

ABC 

nfo A , B , ~  nio A , c , ~  nia A , C , C  nio B , c , ~  nfo B , C , C  ~il$ 

A, B LLP:: a uilf l  ~EII~HI(~I b ~~~Hn'np~o~l [ ' l lG6i i  

sin a sin b = - sin B 
sin A 

1 sin-(A+B) 
1 tan - c  = 

2 1 
2 

tan - (a- b) 
1 sin - (A - B) 2 

2 



1 sin-(a+b) 
LLaL 

1 cot - C = 
2 1 tan - (A -B) 

2 1 sin - (a - b) 2 
2 

sin a sin b = - sin B 
sin A I 

1 sin - (B+ A) 
1 tan - c = 

2 1 
tan - (b - a) .......... 

I 
(2) 

2 sin - (B - A) 2 
2 

~ I H ~ U  c H I I ( I I I I + ~ ~ ~  

I sin - (b + a) 
1 cot-C = 2 1 tan - (B- A) ......... .(3) 
2 1 sin - (b - a) 2 

2 

I 
cos - (B + A) 

1 cos - (b + a) 
2 - 2 - .......... 

1 1 (4) 
sin,- C cos - c 

2 2 

H I  b : 

m n  (1) Iciii 

sin b = 38' 36' sin 560 101 42'' 
sin 35? 52' 30' 

- - 13') (0.83077) 
(0.58602) 

= 0.92338 

I 
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. . b = sin-' (0.92338) 

= 67" 25' 32" H j Q  11294 '  28" 

o~nlonu' 1841 B > A 

6Jtu ti1 b ~~IUII'PLXQJJM~U~UW'U~~I b > a  /i?u 
L: KJUU b = 67" 25' 32" L L W r  1120 34' 28" 

WLuiio b I ~ ~ ~ # J ( I o J ~ I  
'l$ b1 = 67" 25' 32" L L W L  bz = 112" 34' 28" 

H I  CI  : 

oin (2) \&!I 

1 sin - (B + A) 
1 tan - cl = 

2 1 
tan-(b,-a) 

2 1 sin - (B - A) 2 
2 

- - 1 ' 36" tan 130 23 28" 
sin 10" 9' 6" 

= tan-' (0.97202) Z C' 

= 44" 11' 13" 



HI C, : 

sln (3) 'l(i5-1 

1 sin - (bl + a) 
1 cot-C' = 

2 1 tan - (B - A) 
2 1 sin - (bl - a) 2 

2 

- - sin 540 2' 4" tan 100 9' 611 
sin 13" 23' 28" 

- - (0.80937) (O. j7%) 
(0.23 159) 

= 0.62578 
1 - CI = cot-' (0.62578) 
2 

= 57" 57' 45" 

. . C, = 115" 55' 30" 

ktuw~l 
bi = 67" 25' 32", cl = 88" 22' 26" bbI: Cl = 115" 55' 30" 

ad 
nsaw 2 

fi~l3WlLdo b, = 112' 34' 28" HI c. UI: C, 

HI c, : 

sin (2) 'I631 

1 sin - (B+ A) 
1 tan - c, = 

2 1 tan - (b, - a) 
2 1 sin - (B - A) 

2 
2 

- - sin 460 ' 36" tan 350 57 1 56" 
sin 10" 9 '  6" 

- - (OS7 (0.72562) 
(0.17626) 

= 2.9627 

= tan-' (2.9627) Z C1 

= 71" 20' 56" / 

. . cl = 142" 41 ' 52" 
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1 sin - (b, + a) 
1 cot -C, = 

2 1 
2 

tan - (B - A) 
1 sin, - (b, -a) 2 
2 

- - sin76" 36'32" tan 9l 6,, 
sin 35" 58' 56" 

A nrd; e iio RIULHWUU A B G  

d b, = 112' 34' 28". el = 142'41 52" LLW: C, = 73" 29' 9" ( q ~ d  4.9.2 d5:nou) 





sin a sin b sin c - - = -  
sin A sin B sin C 



drniu~~&~uo~iuoqnnnit)n"~d~ ~ ~ o o ~ n n r n n d a o ~  ~ ~ o o i o o r o  ~ i f ~ ~ u o ~ n n n i n d ~ d ~  

ua:daotfl~ ~ d c ~ p i n  sin A = sin ( I ~ O O - A )  d~iino~ o i i ~ I > i i m u  ~ n o i ~ s : ~ i o i ~ r u i  

~nuo16u~ruauujiiuc~wiu~rnduu~Q~n~~n1ud41 

~ s ~ M ~ ~ ~ ~ u L H ~ u u L Q J ~ ~ J ~ I ~  ABC o:I&ii  

r.s.1) ngre~ln'lr~idinY~~'u#iu nciixii : 
I u a i u c ~ d u u ~ Q ~ n ~ m l u  ABC i n  7 o:l&di 
(1) cos a = cos b cos c + sin b sin c cos A 

(2) cos b = cos c cos a + sin c sin a cos S 
/ 

(3) cos c = cos a cos b + sin a sin b cos C I I 

i 
r.s.2) ngre~ln'IrdriinYu~ 
~ U A I U L H ~ U U ~ B J ~ , J ~ ~ U  ABC I n  7 1:IQili 

( 1  cosA = -cosBcosC + s i n B s i n C c o s a  

(2) cos B = -cos C cos A + sln C sin A cos b 

(3) cos C = - cos A cos B + sin A sin B .cos c 

4.4 nqfiidlu 

n p f l i d ~ a 0 u n p ~ n d i ~ i l ~ t ) ~ i u ~ u w ' ~ d ~ : ~ ~ i ~ Y u ~ o ~ Y ~ n ' ~ & i ~ ~ i ~ & i ~ ~ o ~ a i u  

t~duu~5~n. r  ~nauln  7 ~ & d  
( I )  sinacosB = cosbs inc  - s i n b c o s c c o s A  

(2) sin a cos C = cos c sin b - sin c cos b cos A 

(3) sin b cos C = cos c sin a - sin c cos a cos B 

(4) sin b cos A = cos a sin c - sin a cos c cos B 

(5) sin c cos A = cos a sin b - sin a cos b cok C 

( 6  sinccosB = c o s b s i n a  - s i n b c o s a c o s C  



A A i(wiui1&fiua~1u~qclnnic1n~u~ w f  aoqnnninAaar ~ 5 a o i ~ o r o ~ ~ ~ h ~ ~ n n n i c 1 n ' w d r  

L~a:dao~fiX LdoJ~in sin A = sin (ISOO -A) ~ U L ~ ( L O J  OL~IJIS~~~~IU LIIOIPPL~~PIINI 

l A S a u a i b q r u a u u ~ r o ~ a i u ~ ~ ~ u u ~ % ~ n ~ ~ n ~ u c f - i i  

i ~ ~ 3 ' u r i u r w ~ u u ~ % ~ n f ~ n ~ u  ABC oz1&-ii 

(I) 61 a c b c c ~ ~ 8 7  A c B c c 
(2) a + b  > c, a t e  > b  LLAZ b t c  > a 

(I) cosa = cosbcosc + sinbsinccosA 

(2) cos b = cos c cos a + sin c sin a cos B 

(3) cos c = cos a cos b + sin a sin b cos C 

4.3.2) f l P ~ ~ 4 l R k ' d ~ 1 ~ f l J Y V Y % J  

I u a i u ~ w i u u ~ ~ r n . r ~ n ~ u  ABC IR 9 ~r I t i - i i  

(I) cosA = -cosBcosC + sinBsinCcosa 

(2) cos B = -cos C cos A t un C sin A cos b 

(3) cos C = -cos A cos B + sin A sin B cos c 

(I) sin a  cos B = cos b sin c - sin b cos c cos A 

(2) sin a cos C = cos c sin b - sin c cos b cos A 

(3) sin b cos C = cos c sin a - sin c cos a cos B 

(4) sin b cos A = cos a sin c - sin a cos c cos B 

(5) sin c cos A = cos a sin b - sin a cos b cos C 

(6) sin c cos B = cos b sin a - sin b cos a cos C 



(1) 
I tan -A = r 
2 sin(s -a) 

(2) 
I tan -B = r 
2 sin(s - b) 

r = sin(s - a) sin(s - b) sin@ - c) 
sin s 

(1 
I cot -a = R 
2 cos(S - A) 

(2) 
I 

cot -b  = 
R 

2' cos(S - B) 

I 
cot -c = R 

2 cos(S - C) 

URZ R = cos(S - A) cos(S - B) cos(S - C) 
-cos S , 

1 

4.6.1) ni~pduiuro~mii ( G ~ U S S ~ S  annladcs) 

l u ~ 1 u ~ ~ i u u ~ 5 ~ n . r ~ n ~ u  ABC 1.1 7 oz1H-1 . 
1 sin (A - 8) 1 sin -(a- b) 

(1) 
2 

1 
= - 

cos - C 1 
2 sin - c 2 
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1 sin - (A + B) I 
2 

cos - (a - b) 
2 

I (2) t 
I cos - C I 
2 

COS - c 
2 

I cos i(A - B) I 
din (a + b) 

(3) = W '  

I sin -C I 
2 

, sin - c 
2 

1 cos ?(A + B) I 
cos Z(a + b) 

(4) - = 
1 sin - C 1 
2 

COS - C 
2 

uazun.riodlul$u 7 ~ ~ 1 6 o i n n i . r ~ d i o u o ' n ~ r v o . ~  ( 1 1  i i ~  (4, ~3uigCn.r o: 

riilfl6fin.rin 8 1.5 . r a u ~ f l u ~ n . r & ~ u ~  )2  ua.r6auA 

4 .6 . )  nirqd~~ursnufai tNapier9s analogies) 

I tan ?(A - B) I sin - (a -  b) 
(1) - - 2 

I 1 

cot 'c 
2 

sin f (a + b) 

I tan -(a- b) 
I 

2 
sin ?(A - B) 

(2) = I tan -c I 
I 2 

sin - (11 + B) 
2 

I tan Z(A + B) I cos-(a- b) 
(3) = - 2 

I cot -C 1 '  
2 

cos - (a + b) 
2 

1 tam-(a + b) 1 
2 

cos - (A - B) 
(4) - - 2 

1 tan -c 
2 COS'(A+B) 2 

uarfla.rio~Iuadu q d~lkinni.rnlduuo'na3tlt)~ (1) 8 4  (4) ~guTg4n.r 4 4  

s+I(iuntduin 8 in7 raaJu  12 gar 



4.8 ~ ~ l t 6 ~ ~ M l n l ~ n ' 1 ~ ~ 6 1 8 l ~ ~ H ' ~ ~ ~ 8 1 ~ n " ~ ~ U ' 1 ~ ~ ~ 1 ~ 8 1 ~  

aa :n~dh~u~yr r~ha~yun"~8 iu '1~~ i i~yu~  

, 4.8.1) ~ ~ O ~ I H W ~ A ~ U I ~ ~ ~ J A ~ U ~ ~ ~ U I  : : H ~ I J ~ I u # ~ ~ ~ J  la ril~ua a, C, B ~ i o  I 


